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da 1 (15 AZUUY)

1.1 aadlua (fluid) Afendnetels (2 AZUU)

1.2 uanauldl (wood vinegar) HAgnumunuiiy 1080 kg/m® a9un Umtin&wIE (specific weight) was

ANNTNAUNE (specific gravity) (2 AzUUW)

— T - y o [V X a 2 -
1.3 aun? Vp — vk = pa Mefuneanudiluileredustiialue uazsedldanyfigouerls? lunsangd
annsdanatafiuannms p = pgh +p, (3 ATUWUW)
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1.7 dAwiuauumstua V=byi—axj m/is 1 auar b dludia
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o -l ] T o d; ] k73 z = v o nl' o
fansanszuaniiidusniguangne 0.8 ft win 40 Ib inReuaeted ) LB Miganadaned 0.1 fi's dalu

v v
¥ o ¥ P o
71 WsTduung p un 0,002 ft InAeLagUWRNTeNAne uazinanamiln (viscosity) 0.2 Ib.s/ft
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483 (15 AZLUW)

(n) aBLNEANUANANIENINNANALANY SO (absolute pressure) il ANNFIUING (gage pressure)

al

(1) aamAnANuaNYs0d (absolute pressure) Tumauz A thanuduussenmandlfanuisefimasdivin

i 750 mm Hg  Amuall Auawesmwizsesdsan (SG.) winfu 13.6
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sy AB Hunuiuegf A warilannundawiniu 3 wms aamuse uazsinumiaus Ansvinsiadsznsanann

Y 4 B
! | —
e T R N
. 3
_\-ﬁvvrl =
77, ' 77T >
A %

wiie/s



48 5 (15 AZWUW)

(N) MUARIRNITRIANNTUTReEFI1BIRRN Fy = vV

(1) 970
PGS

g

AVuA ANENATNz a9 lNaTIu (SG.) Winu 1.26

nanlfanvianualulnadiu (glycerine)

0w

TO v

NNGNUIAT F211A 80 mm x 80 mm x 80 mm aatagluuninsfidouiian 60 mm awmnAveusildng
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